Maths Group 2
Week 5
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Solve these using a calculator. Check your answers using apparatus to help you.

Question Answer | Correct?

/=2

3+ 3

q+ 3 -

0+5 =

L+ 6

6+ L

6+ 3

Sometimes, it can be hard to know that we've put in the rLght calculation. You

can check your answer bg domg the ‘inverse . For examp[e:

b +2 =72
2x2 =k

Do this for your calculations. Ask an adult to help you ©
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Solve these calculations using a calculator. Check your answers using apparatus

to help you.

Queestion Answer | Correct?

H = | =

3 + 2

q+ 3 -

8+ | =

3 + 3

9+ 3

/=2

Sometimes, it can be hard to know that we've put in the rLght calculation. You

can check your answer bg doLng the ‘inverse . For examp[e:

L =2 =72
2x2 =k

Do this for your calculations. Ask an adult to help you ©
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Solve these calculations using a calculator. Check your answers using apparatus

to help you.

Queestion Answer | Correct?

+ /

+ 9

O £ | w N
|-
+ 1 O O1 |+

Sometimes, it can be hard to know that we've put in the rLght calculation. You

can check your answer bg doLng the ‘inverse . For examp[e:

L =2 =72
2x72 =k

Do this for your calculations. Ask an adult to help you ©
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Solve these calculations using a calculator. Check your answers using apparatus

to help you.

Question Answer

2 +5

3+9

|+ 2

/ + 9

2 +0

6+ 9

Sometimes, it can be hard to know that we've put in the rLght calculation. You

can check your answer bg doLng the ‘inverse . For examp[e:

L =2 =72
2x2 =k

Do this for your calculations. Ask an adult to help you ©




Another slllg but fun challmge. | think this one shows just how amazing maths

isl We will be having a. go at this in school as well so we really hope you en joy itl

Work through the instructions step bg step. You nght need to ask an adult to

help you. Do you always get the same final answer? jf

EnJ'og l




i First

= Choose any three digit number,
but each of the dLths must be the

same.

mFor axample: 227 or LWLl

i Now

= Add up all of the digits.

= For example:

2+2+2=0

i Then

= Divide the original three digit number
Yyou ’[hou,ght of bg the total of the
digits you added up.

= For example, 222 = 6 = 3/




* Cuess what?

The answer is 37

i Watch This

= Now, Yollowing the same rules, try it

again with another 3—dL9Lt number

mls your answer 3/ agam?

What did you think of
* that?

lsn't Maths amaan,g?
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